Parts List .«..x:

Epap Uk

Model: AC232S IN—JVZXPI—F 523673
AC232SL



HaTRODITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R DR TR E SRS,

MamlEwnd THRILFIESR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARM—=UIZ Fig. XXSRBERRLTHYFET, <D XX [FAFAM—=D
ELORBLEZSERLFET .

o 0 & 0N

EP/Y
/, /\o_:)

L XF KV I3 NI v S 1~2
I X7y A I N v N 3~4
3 IVDY (DT —R DIUF L AAI) 5~38
4. TDY (JOAAILRB=E) s 9~ 10
5. IVY (FxTLA, IT7V)—F. BEEDD) e 11~ 12

B AT BB oo s s e enenne 13 ~ 14






1. AC232S
x &



A:AC232S, B:AC232SL

BHES | HRES %8 & W . s B =
1-1 364202 | AC232S 1
1-2 227825 | TUNTYY 1
1-3 227925 | K IVUN4hUMA 1
1-4 215532 | kv44=%") 1
1-5 054691 | YhT49 9347 1 6 794
1-6 089738 | 6 hYl Lk (+ 77 EYH) 1 M5x15
1-7 412854 | nUNIVNYThTY h34T 1 8 79L
1-8 092561 | 6 hYF L+ (+)SW 6 M5x25 77 Yk
1-9 228077 | ¥ ¥h—-A9347T 1 10 ~ 16 744
1-10 | 234247 | 6 ho# ILb 1 M8X8
1-11 | 092550 |6 A%k b (+)SW 1 M5x25-7T
1-12 | 412851 | NE/FAA 1
1-13 | 620674 | NE/iFA B 1
1-14 | 620673 | 6 A9 Lk WSW 1 M8x22 t4')
1-15 | 222128 | 3¥9+K9UnYy 1
1-16 | 222129 | AVE'v#*Y 1 5x20
1-17 | 089737 | 6 A9k ILb (+ 77°1Yh) 1 M5x12
1-18 | 220549 | F194v—% 1
1-19 | 235128 | %=L7L—} 1 BIG-M AC232S
1-20 | 231654 | nNJT—Y) 1 ECO
1-21 | 225749 | AnUN LTI A 1 £41)
1-22 | 225751 | nUNILIRA 1 I
1-23 | 215584 | AMYT A(YF 1
1-24 | 222138 | A{YFhn'— 1
1-25 | 418929 | MJh'H34T (T16) 1
1-26 | 232966 | ARYMLLA— (T16) 1
1-27 | 235042 | 74%¥ht 1 710X82
1-28 | 620678 | hanrn ok 9347 1
1-29 | 620675 | ¥ AAVAN-H34T 1 30 794
1-30 | 092561 |6 HHdk b (+)SW 2 M5x25 77 Yk
1-31 | 224624 | #¥9Y7°Y— 9 BIG-M 1




— 25—
23— &.‘c

2. AC232SL
% NIZ



A:AC232S, B:AC232SL

BHES | HRES w8 & s ' B =
2-1 364203 | AC232SL 1
2-2 227825 | TUNTYY 1
2-3 227925 | K IYUNAHUIMA 1
2-4 211736 | ®v494=%") B 1
2-5 211737 | NUN 2
2-6 054691 | VYN 9347 1 | 7794
2-7 089738 | 6 hYi ILk (+ 77 EYH) 1 | M5x15
2-8 232880 | AOYMLLN — 1
2-9 235048 | AAYMLI{¥ 1 | 365L1/0 91
2-10 | 213548 | a5 —+F1-7" 1 | 3K 10 200L
2-11 228077 | ¥ ¥h—-A9347T 1 |12~ 18794
-12 | 234247 | 6 hH&K Vb 1 | M8X8
-13 | 092550 | 6 HYK Vb (+)SW 1 | M5x25-7T
2-14 | 212986 | NEJFRA 1
2-15 | 219195 | AE/H'A B 1
2-16 | 215610 | 6 h9K L+ WSW 1 | M8x22 4™
2-17 | 222128 | ¥¥YFKHIVUNY 1
2-18 | 222129 | AVE'vARY 1 | 5x20
2-19 | 089737 | 6 hyif Ik (+ 77 €YH) 1 | M5x12
2-20 | 220549 |Fai9(v-9 1
2-21 235132 | 2—=L7°L—F 1 | BIG-M AC232SL
2-22 | 231654 | n\Jv—=4H 1 |ECO
2-23 | 222059 | K IYUN-7 NN IIIET 1 |24,257494
2-24 | 126993 |6 h9+Yt 4 | M5
2-25 | 222142 | +A2%Y ()W 4 | M5x28
2-26 | 220533 | hahhrnNUN934T 1
2-27 | 222821 | A9rVAN-934T 1 28744
2-28 | 092561 | 6 A9K Lk (+)SW 2 | M5x25 77°tYb
2-29 | 224624 | F¥97)— 9 BIG-M 1




3. AC232S,AC232SL I >y
DS —R, DYUE . aAdI)L

AZE\A R

P 11




A:AC232S, B:AC232SL

BHES | HRES w8 & W A@ﬁ ' B =
3-1 859298 | IVY'Y 1 1 | EE231/07
3-2 289639 | VU4 1 1
3-3 289643 | I AKYH 1 1 | TO5
3-4 267290 | A%Ya 2 2 | M5x20
3-5 282579 | {Uv1lL—4 1 1
3-6 267049 | B ANYR 1 1
3-7 269826 | ARV (H)WSW 2 | 2 | M5x25WSW 9%
3-8 289657 | ¥757+tV7"Y 1 1
3-9 266402 | 2411 2 2 | M5x55
3-10 | 289642 | h'Ahwb 1 1
3-11 272528 | b7 hin=av77)—F 1 1
-12 | 289774 | A1 1 1
-13 | 261878 | VYt 1 1
3-14 | 280144 |AYEVRY (+) 1 1 |4x16
3-15 | 280341 |45v9h—-2A 1 1
3-16 | 280488 | A 7YYy 2 2 | PPL 6001
3-17 | 261492 | A4LY— 1 1
3-18 | 261386 |A4ILY—I 1 1
3-19 | 055185 | C h"4rAT 1 1 | 7+37 28
3-20 | 261612 | 6 HHY7HYFHK b WSW 3 3 | M5x30
3-21 272089 | E'ALY 1 1
3-22 | 264891 | E'AMNUY 2 2
3-23 | 261036 |E'ARVEY 1 1
3-24 | 263957 | =—FMILATYVY 1 1
3-25 | 261576 | #=49yvy7° 2 2
3-26 | 267193 | 970994 7b3077)—F 1 1
3-27 | 269168 | 439F7ty7") 1 1 12829 794
3-28 | 269169 | H539Fva 2 2
3-29 | 269173 | A7 Yy 1 1
3-30 | 269647 | 43YFEK Wb 2 2
3-31 269175 | 7oy 2 2 | 6.1x15x1.6
3-32 | 261777 | 9I-7"7Vo% 2 2
3-33 | 272095 |77 hN-TtU7 C 1 1 |34~ 36794
3-34 | 282233 | 77N - 1 1
3-35 | 289727 | 4#39YFN L3077 b 1 1
3-36 | 014210 | C h'4rAT 1 1 |S10
3-37 | 269831 | FA3%Y (+)WSW 4 4 | M5x20WSW
3-38 | 282215 | 4Yy7° 1 1
3-39 | 281169 | 24Y1 1 1
3-40 | 272066 | ¥4 &b 7EYTY 1 1 |41 ~ 47 794
3-41 261356 | O—4% 1 1
3-42 | 272067 |49 =9YALA4NTEUTY) 1 1 |43 ~ 47 794
3-43 | 267401 |34 1 1
3-44 | 272068 |31-FT7tY7Y 1 1 |45 ~ 47 794
3-45 | 272069 |31-F 1 1




3. AC232S,AC232SL I >y
DS —R, DYUE ., aAdI)L

cary:

P 11




A:AC232S, B:AC232SL

RHES | BpEs 08 LW A‘m ' B o=
3-46 | 261074 | 7°39°%¥v7’ 1 1
3-47 | 261075 | 799 1 1
3-48 | 261076 | NV V- 1 1
3-49 | 261417 | #7354 Y¥FUb 1 1 | M8
3-50 | 280381 | AA™—# 2 2
3-51 261256 | 6 h97HYFFK L+ WSW 2 2 | M4x25
3-52 | 286739 | AN=975) 1 1 | CcJeY
3-53 | 267492 |-} 1 1
3-54 | 282880 | Y-} 1 1
3-55 | 280670 | 4'mAYhk 1 1
3-56 | 264588 | 47v7° 1 1 ‘
3-57 | 269705 | 3A° 1 I VN LY WEY,




4. AC232S,AC232SL I >y
JaA JLRAR—A

14




A:AC232S, B:AC232SL

HaEs

B M &

Sk

i® &

[ I [
SCOOO\ICD AR WN =

L e e i e i

—_— ok ot L
AWON—=

282404
282405
283411
283412
280930

280931
267213
280932
280933
267219

280934
280489
269833
272365

YA RE-47 107"
A3—47177)

Y=l

nL7L-h
ByN=-27Y07

ANATNRT YUY
TYMRYYL
-77t,7"
A8—40-7
A4=4)7

7777

FA IRV (H)WSW
TAI%Y (H)WSW
NI

— o — — —) >

_—— N —

" " " " lve)

—_—— N —

2~ 11794
3~ 10794

9,10 794

M4x20
M4x16WSW *94
AC232S




5.AC232S,AC232SL T DV

18
1

T
R LR
.%@u@fg

QA
S

20

FyILAE, ITT70)—F. BHELY

-11 -



A:AC232S, B:AC232SL

BHES | HRES w8 & A@ﬁ ' B =
5-1 289878 | Y7 L4TtEU7Y) 1 1 [2~15794
5-2 272286 | KV TA 1 1
5-3 262991 | N—=VK T4 1 1
5-4 262992 | kU7 hin— 1 1
5-5 261874 | 7'94% 1 1
5-6 283905 | 4°4¥77L 1 1
5-7 262993 | B ANYE 1 1
5-8 262994 | °4¥77L4 1 1
5-9 282576 | B ANYb 1 1
5-10 | 289396 | IVt 1 1
5-11 261871 | O Yuy 1 1
5-12 | 261876 |Yv7 1 1
5-13 | 261658 | A4A')L 1 1
5-14 | 264682 | 249Y1 2 2
5-15 | 262996 | 24Y1 4 4
5-16 | 261864 | h"A4wb 1 1
5-17 | 264691 | O Y4’ 1 1
5-18 | 266420 | #)—+7tY7"Y 1 1 119 ~ 21754
5-19 | 264709 | 4)—Fhn'— 1 1
5-20 | 266433 | 5—A7tV7) 1 1
5-21 264695 | ILAvk 1 1
5-22 | 269834 | +AI%Y (+)WSW 2 2 | M5x60WSW
5-23 | 282795 | 4497ty 7) 1 1 |24 ~ 34794
5-24 | 285664 |71-I\4vY 1 1
5-25 | 281565 | 4v9%v¥v7°7ty7"Y 1 1 26744
5-26 | 269377 | nNYXY 1 1
5-27 | 261696 | 7°1)—%'434T 1 1
5-28 | 265752 | #Y)AYNATTEYTY 1 1 (29 ~ 34794
5-29 | 264031 | NA7H34F 1 1 130~ 32744
5-30 | 261115 | ¥'OAYp 1 1
5-31 261690 | #Y3AINA7° 1 1 | 160L
5-32 | 263038 | A—n'70-N'47 1 1
5-33 | 264653 | 7ALATEY7Y 1 1
5-34 | 261117 | 4997’ 1 1
5-35 | 269828 | FtAIRY (+)W 2 2 | M5x16W
5-36 | 281208 | tA2%Y (+)W 1 1 | MBx16W A%
5-37 | 281007 |3~ 1 1 [FA3-9 04 _~4

-12-




6. AC232S, AC232SL
/&

-13 -



A:AC232S, B:AC232SL

HaEs

B M &

Sk

>

o

& &

221460
220534
210418
219431
022865

235124

HI AN %
nhiv—
IVE R YIRANT
6 IR IANT
YAYFANT

MTIRLEY AT

AN 3
8x10

AC200S/232S

-14 -




22 LU EThH
BHERERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2013-07.J

EHENEETY





